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Get Upper Limit
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Get N(J/psi->invisible) by fitting && main background contribution(together with uncertainty).
Get g;,,(from MC simulation) and &,(from data).
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Get Upper Limit

Subtract main background

Y(3686) = n aJ/y, J/W — utuT. 7144384693 | > 7136524693

Y(3686) — ' J/y, JIy - ntne 74425

W(3686) —» nJ/y, n — yntn~, J/Yy — uTu” 3516

scaled continuum data 7+5

Get N(J/psi->u* ) by subtracting main background contribution(together with uncertainty).
Get g, (from MC simulation).
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Get Upper Limit

B(J/w — invisible) Ninvi/(€invi * €xig)
B — ) Ny / €
= (=7.55 + 4.58(stat.) + 33.7(syst.)) x 107*

Calculate relative branching fraction of signal over normalization channel.
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Get Upper Limit
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Br(J/y— invisible)/Br(J/y—puu- )

Normalize likelihood distribution after smearing by systematic error(statistical error is much smaller).
Get the upper limit at 90% confidence level.
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2 data sets
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(=7.55 +£33.7)x10°* (=219 .72 £ 34 .44)x10 °
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Assume summation of 2 Gaussian — Gaussian

B(J /Y — invisible )
B(J/Y > uu)

T

= (—111 .33 £24.09)x10 *
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Get a combined upper limit which is smaller than any of them.
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Discuss with Zhu Kai

Take 2 data sets as one.

We can also use simultaneous fit by requiring number of events as a same parameter(taking
place of sigma in usual simultaneous fit).
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